
Count in 2s

1 	 What are the numbers?

a)

	

	 	   
 

       
 

  
 

	

	 	 	 	 	 	

	
b)

	

	

	                   

	         	 	 	 	



2 	 How many flowers are there?

There are  flowers.

3 	 Circle 14 socks.

>



4 	 Fill in the missing numbers. 

	

a)	 	

0 2 4

b)	

18 16 12 8

c)	

5 	 How far can you count up in 2s?

	 Work with a partner.

	 Can you count up to 50 together?

	 Now try counting down in 2s from 50
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10 12 14

+2 +2 +2 +2 +2 +2 +2



Count in 5s

1 	 What are the numbers?

	

	 	   
   

	

	

	 	 	 	 	 	

2 	 How many spots are there in total?

There are  spots in total.
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3 	 Colour 35 petals.

4 	 Fill in the missing numbers. 

a)	

0 5 10

b)	

50 45 40

c)	

5 	 Mo counts up to 50 in 5s. 

	 Eva counts up to 50 in 2s.

	 What numbers do they both say?

	 Can you spot a pattern?

20 25 30

+5 +5 +5 +5 +5 +5



Count in 10s

1 	 How many muffins are there altogether?

              

	

	 There are  muffins on each tray.

	 There are  trays.

	 There are  muffins altogether.



2 	 How many apples are there altogether?

	

	      

	 There are  apples on each ten frame.

	 There are  ten frames.

	 There are  apples altogether.

3 	 How many counters are there altogether?

	 There are  counters altogether.



© White Rose Maths 2020

4 	 Complete the number tracks.

	

   
10 20

   
70 50

5 	 Tom has these balloons.

10 10 10

10 10 10

	 He needs 60 balloons for a party.

	 Does Tom have enough balloons? 

	 How do you know?



Add equal groups 

1 	 Complete the sentences. 

       	    

	 There are  apples in each bag. 

	 There are  bags. 

	 There are  equal groups of  

	 There are  apples altogether. 

	  +  +  +  =  



2 	 How many sweets are there?

	  +  +  = 	  

	 There are  sweets.

3 	 How many marbles are there?

	

	 10 10 10 

	  

	  +  +  = 	  

	 There are  marbles.
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4 	 How many candles are there?

	  +  +  +  = 

	 There are  candles.

5 	 Use counters to show the equal groups.

	 Complete the number sentences.

a)	 2 + 2 + 2 + 2 = 

b)	 5 + 5 + 5 + 5 + 5 = 

6 	 There are 7 equal groups of 5 counters.	

	 How many counters are there altogether? 

	 There are  counters altogether.


